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. This Booklet contains in all 100 questions with multiple choice

black/blue ball point pen shall not be awarded any mark.

. Failure to hand over the Answer Sheet to the Invigilator before

leaving the examination hall/room will make you liable to penal
action.

. Read carefully the instructions of answering each question before

answering it.
Answer the questions as quickly and carefully as you can. Some
questions may be easy and others difficult. Don’t spend too much
time on any question.
No Rough work has to be done on the OMR Answer Sheet. Space
for rough work has been provided below the questions wherever
needed.
You must not catry into the examination hall/ room any book,
mobile phones or electronic devices printed/handwritten papers
except the Admission Letter.

Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.
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— ARITHMETIC
1. By what greatest number will 2249, 8227 and 756 be divided to leave reminders of 8, 10 & 9
respectively?
(A) 77 (B) 747 (C) 889 (D) 898

609 Q2@ A°HYI FIAI 2249, 8227 8 756 § RITRER VUGESS DRAFEE 8, 10 8 9 0FS ?
(A) 77 (B) 747 (C) 889 (D) 898

2. When all the students of school are made to stand in lines to form a square, less than 10 students are left
surplus. If the students of the school are 1230, how many students will stand on each line?

(A) 32 94 (B) 34 @4 (C) 35 @4l (D) 36 4

R SRR FIGFINGT ATIRIQ 69G6R VIS UIE @R O8I *AIRIQ 10 Q @F1 BIG SRATER | YR FIGA S
1230 @61 626@ JERIIGER 6960 @6 ]IQ BG! 626m?
(A) 32 @4l (B) 34 @4 (C) 35 a4 (D) 36 @4l
3. The depth of a water tank of cube size of equal sides is 200 c.m. If 1000 ltr of water is drawn-out of the

tank daily, in how many days all the water of the tank be finished?
(A) 4 Qg (B) 6 @@ ()78 (D) 8 @&

601N AARRIRNQ QIS FIFR ARIRGI 200 62.81 1 QR 650K 1000 ReQ IS FITERER, 6R6E
GR6Q AIGER 699 6RINDR |
(A) 4 Q9 (B) 6 @@ (C) 7@ (D) 8 @8

4.Tn a division the devisor is 4 times the quotient and 3 times reminder. If the reminder is 4, what is the
dividend?

(A) 16 (B) 19 (C) 40 (D) 48
IR AUGTAER VKR, VITRR 4 Q81 IQ° QIGIESITQ 3 G|€l 2T | G QU 4 g, 6062 QG 6XEL 7
(A) 16 (B) 19 (C) 40 (D) 48
5. The age of father and son together was 45, Syears back. What will be their combined age after 5 years?
(A) 65 (B) 60 (C) 55 (D) 50
5 Q8 g6< QIa B gaIR @0 78 45 od gal 1 5 @Y U6Q 6AFINETR YUAR AT 6R6S 6297
A)65 (B) 60 (C) 55 (D) 50
6. What smallest number has to be deducted from 1294 to leave a reminder of 6 in each case when divided
by 9, 11 & 13?
(A)1 B)2 ©)3 (D) 4

1294 Q 699 YO °H F60US @R 9, 11, 13 FIQI AUNER Y6SYR 6IFER AUGEHT 6 9LR?
(A1 B)2 ©3 (D) 4

7. What smallest number shall be added to 11158 to make the addition divisible by 777
A9 (B) 8 ©7 D5

11158 6Q 69 YOO LHY 6QAITRER CAITETR 77 FIal TG 6297
(A)9 (B)38 ©7 (D)5
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8. What is the difference between the positional values of 6 in the number 9643627
(A) 59940 (B) 5994400 (C) 5994 (D) None of these
064362 6Q '6' @ HIR1L IR CIRICA AR 6RER?
(A) 59940 (B) 5994400 (€) 5994 (D) G9lIee FRIQ 616G ges

9.What is the highest of all the 2 digit primary numbers?
(A) 93 (B) 97 (C) 89 (D) 79

IR g I AQOIQ OB 671G A°HYIT 6R63 ?
(A) 93 (B) 97 (C) 89 (D) 79

10. The addition of 2 numbers is 15 and the addition of their squares is 113. What are the 2 numbers?
(A)4,11 (B) 5, 10 (©)6,9 D)7,8

QRE IR CATTR 15 6 6AARTA TR 6AITTR 113 | 6968 LY E 6R6S?
(A) 4, 11 (B) 5, 10 (©) 6,9 (D) 7,8

11. What number shall be multiplied by that number to make a product of 41209?
(A) 207 (B) 203 (C) 209 (D) 213

6QQ QHYIG 6T A°HYl FIQI JEER GEITFR 41209 6297
(A) 207 (B) 203 (C) 209 (D) 213
12.The result of subtraction of 2 numbers is 20% of the greater number. If the smaller number is 20, what is
the greater number?
(A) 25 (B) 45 (C) 50 (D) 80

QPG LR FEAGTR, QEAHIR 20% &6 | AR AT 20 626, 9B °HIT 626G ?

(A) 25 (B) 45 (C) 50 (D) 80
13.15 years back, my age was 3 times the age my son. Now my age is 2 times the age of my son. What is the
total age of both of us?
(A) 60 years (B) 64 years (C) 72 years (D) 90 years

15 o¢l g6 618 QU9 671192 99AR 3 G4l YR | FEFIR 671 SV 661l Y2 SAAQ RIS 26T 1 6669
QEFR 27 97 FEITA QA 718 62667
(A) 60 @9 (B) 64 @9 (C) 7298 (D) 90 @8

14. The product of two numbers is 70 and their addition is 17. What is the difference between the two?
(A3 (B) 4 ©)5 (D)6

06 HIIQ GEITR 70 G CATTR 17 | 666Q Bl GRTQ A TR 6R6E ?
(A)3 (B) 4 ©5 (D)6

15.1f 517*324 is divisible by 3, which of the following small number will replace the star?
(A)O B)1 ©)2 (D) None of these

QAT 517 * 324 QT 3 FIGI AR P9, 6962 * &Rl FFER FEFID 62R YRBF LT QER ?
(A)0 ®) 1 ©2 (D) FIeT FRIQ 6ANEAT 68
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16. Which of the following number will fill up the gap in the series 4, 16, 36, 64 , 1447
(A) 81 (B) 100 (C) 132 (D) 140
4,16, 36, 64, ------144 AGIFIR AU VFER 699 LG AER?
(A) 81 (B) 100 (C) 132 (D) 140
17.3/5" of a village are farmers and the rest are businessmen. If the number of businessmen is 300, what is
the total population?
(A) 650 (B) 750 (C) 700 (D) 800

69lIGN QIR 3/5 2°8 QY1 B AQEE QUL | UF QUQQILE Q°HYI 300 @, 6062 gIFIR 6¢1IC' SMI@ A°GMI

ER6e ?
(A) 650 (B) 750 (C) 700 (D) 800
18.Rahim reared some hen and goats. If the heads of fhe hens and goats are 90 and their legs are 248, how
many goats did Rahim rear?
(A) 32 , (B) 34 (C) 36 (D) 40

QFF @R 990! 8 687 ARYRI | AT 687 8 @@l I8 T4 90 6 63lIE T8 248 94, 6069 QT¢| 6RERIG 68

aimeml ?
(A) 32 (B) 34 (C) 36 (D) 40
19.a-b b—c c-a
Fol s el o R
(A0 (B) ©3 D)
a-b b—c c—-a
R Yy LU
@0 ®), ©3 D)

20. The H.C F of two numbers is 13. If one number is 91, what is the other number?
(A)7 (B) 65 (C) 13 (D) 63

QaE QIR 6.Q1.G). 13 1 691I5° A°FYI 91 626R, AMET AT 69667
(A)7 (B) 65 (O 13 (D) 63

21.What times of H.C.F is the L.C.M of 48, 36, 72 & 24?
(A) 6 B) 12 (©) 18 (D) 24

48,36, 72 9" 24 Q R.21.9), IFISF 61.91.9). @ 6969 G817
(A6 (B) 12 (©) 18 (D) 24

22. The H.C.F of 2 numbers is 3 and the L.C.M is 60. If one number is 12 what is the other number?
(A) 5 (B) 15 (€) 18 (D) 36

QG °HIQ 6.Q1.9. 3, R.QALG. 601 691 Yl 12 626R AT 69667
A)5 (B) 15 (C) 18 (D) 36
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23.The L.CM of 25 & 30 is how many times their H.C.F?
(A) 40 (B) 41 (C) 45 (D) None of these

35630 R. Q. g, MFIGSQ 6. Al. G, © 626 g8l ?
(A) 40 (B) 41 (C) 45 (D) 6716135 gew

24. Find out the LCM of 3 a?b, 4a b? &6 ab.
(A) 12 a? b? (B) 12a?b (C) 12 a b? D) 12ab

3a%b, 4ab? &6 ab QR Ao Qo 6R6EG?
(A) 12 a? b? (B)12a%b (C)12ab? D) 12ab

25.The sum of two numbers is 384 and their HCF is 48. What is the difference between the two numbers?
(A) 48 (B) 96 (C) 144 (D) 192

GAG TR CAGTR 384 IS CHIFAR 691G 48 1 606 A ST FRIGR ABQ 6R6E?
(A) 48 (B) 96 (C) 144 (D) 192

26. The addition of two numbers is 384 and their H.C.F is 48. What is the ratio between the two numbers?
(A) 3:5 (B) 4:5 : () 2:3 (D) 1:3

Q@@ AHYIQ CAINTR N @ Qig ¥T 696m, LYYl g Al ER6% ? _
(A) 3:5 (B) 4:5 (€) 2:3 (D) 1:3

27. The proportion of two numbers is 5:6. If their H.C.F is 4 what is their L.C.M?
(A) 90 (B) 96 (C) 120 (D) 150

QG IR 2GAIB 5:6 1 UG 6AANIFR 6.Q1.9), 4 §4, 6669 CATNATA R.ALY. 6X6E ?
(A) 90 (B) 96 (C) 120 (D) 150

28. The H.C.F of three numbers is 3 and their L.C.M is 720. If the 1* and 2™ numbers are 15 & 36, what is the

3" number?
(A) 16 (B) 14 (©) 12 (D) 10

5615 IR 6.91.9), 3 BR.QLEG, 720 1 AF GaF B FoIA AHUIFL 15 836 2T, 6969 P10 AT 6766 ?
(A) 16 (B) 14 ©) 12 (D) 10

29. The product of two numbers is 216 and their H.C.F is 6. What is their L.C.M?
(A) 36 (B) 48 (C) 60 (D) 120

GaG QIR GEITR 216 IS 6ACIRTR 911G, 6 6267, LHIFAR R.21.G, 62667
(A) 36 (B) 48 (C) 60 (D) 120

30. The proportion of two numbers is 3:5 and their L.C.M. is 225. Then find out the smaller number?
(A) 45 (B) 60 <75 (D) 90

QEE IR AFAIS 3: 5 99" 6ATNIFA |. Al. g, 225 1 696T AR AT 67687
(A) 45 (B) 60 (©) 75 (D) 90
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3 A The ratio of two numbers is 5:4. If 40% of the first number is 12, what will be 50% of the second number?
(A) 12 (B) 14 15 (D) 18

QaG IR 2gAIe 5:4 1 9T AN HIR 40% 12 4, 656Q Fo1A A°HIR 50% 66 6297
(A) 12 (B) 14 ©) 15 (D) 18

32. The H.C.F of two numbers is 11 and their L.C.M is 7700. If one number is 275, what is the other number?
(A) 279 (B) 283 (C) 308 (D) 318

Qa8 AR G. Q. g. 11 99° R. QI G, 7700 | 6T Yl 275 626R, AR LT 62667

(A) 279 (B) 283 (C) 308 (D) 318
33.If the proportion of 3 numbers is 3:5:7 and their L.C.M is 4200, what is their H.C F?
(A) 40 (B) 80 (C) 120 (D) 200
P6RIT A°HUIQ 2QAIQ 3: 5: 7 4Q° 6QAIREA M. . §. 4200, 6969 6ALNPER ©l. dl. G, ENEC ?
(A) 40 (B) 80 (C) 120 (D) 200
34. Find out the LCM of a? + ab & ab — b?.
(A) ab (a+b)(a-b) (B)a(a-b)a-b) (C)b(a+b)(atb) (D) ab (a-b)(a+b)
a’+ ab&ab—b?Q M Ao Qo 6R6E ?
(A) ab(a+b)a-b) (B)a(a-b)a-b) (CO)b(at+b)at+b) (D) ab (a-Db)(a+b)
35. What is the square of 11117
(A) 1234321 (B) 12321 (C) 1112311 (D) 1232341
1111 Q 96 6966?
(A) 1234321 (B) 12321 (C) 1112311 (D) 1232341
36. What smallest number should be added to 6375 to make the sum a complete square number?
(A) 50 (B) 20 (C)25 ‘ (D) 100
6375 6Q 699 YGOF! LHI 626 FER CAGNTR IR G4 G A°HY 6297
(A) 50 (B) 20 (©) 25 (D) 100
37.(0.021)%= ?
(A) 441 (B) 0.0441 (C) 0.0441 (D) 0.000441

(0.021)?= 6692 629 ?
(A) 441 (B) 0.0441 (C) 0.0441 (D) 0.000441

38. What is the square root of 0.053361?
(A) + 0.231 (B) £0.241 (C) £0.249 (D) £0.251

0. 053361 @ Q4 €| 69697
(A) £ 0.231 (B) £0.241 (C) £0.249 (D) £0.251

39. What is smallest complete square root number nearest to 1000?
(A) 29 (B) 30 (C)31 (D) 32

1000 @ $R0¢1 19° Yoo 94 QART 69697
(A) 29 (B) 30 (€) 31 (D) 32
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40. The length of a rectangular is 1.5 times its width. If its area is 1350 sq. meter, what is its perimeter?
(A) 120 €. (B) 130 4. (C) 140 &1 (D) 150 4.

601G 219 6RGR 6544 ga9Q 69@ gé 1 IR 6AGTR 1350 @. FITQ 626, IR ARAAIA 6R6E ?
(A) 120 &. (B) 130 &. (C) 140 . (D) 150 &.

41. In exchange of two square size plots of 400 & 441 sq. meter, a man purchased one square size lot.
What will be the expenditure if it is fenced at a rate of Rs.5.00/per meter?

(A) 240 S (B) 260 oI (C) 280 oI (D) 300 oI

Q641 6RIP IR 400 6 441 96 F6eQ §F QUIRIQ &F ARRER 665N QCIRIQ &F FER 1 NEQ IS 6a
36 foa 96 5 ol BALER 6266 TF 629 ? '
(A) 240 O (B) 260 o (C) 280 o= (D) 300 8

42. 1f the area of a square size field is 133.6336 sq. meter, what is its perimeter?
(A) 48.24 & (B) 46.42 Q1. : (C)46.24 Q1. (D) 46.32 €.

6015 QOlIRIQ 9G2IR 6RQTR 133.6336 .41, 626®, aGeIQ aBQIel 69687
(A) 48.24 4. (B) 46.42 4. (C) 46.24 4. (D) 46.32 4.

43 . =1331.,
What is the cube root of |

A) -3 B) —= ©= @) -7

-1331
4096

QLR R 6R6C ?

(A) -3 ® - ©= @) -3
44. 327}~ 2744 = ?
(A) -52 (B) 42 (C) 32 (D) -24

V27 x3/=2744 = 6960 6297

(A) -52 (B) 42 (C) -32 (D) -24
45. 2777728 x 15625 = 9
(A) -180 (B) -240 (C) 280 (D) -300

Y/—=1728 x 15625 = 660 6297
(A) -180 (B) -240 (C) -280 (D) -300

46. The population of a town is Rs.3, 00, 000. If the birth rate is 5% and the death 3%, what will be the
population of that town after 2 years? ;

(A) 321120 (B) 311220 (C) 312120 (D) 322110
66151 QAR ERISAHYI 3, 00,000 | S LA 5% B JFILIR 3% 6ARUN, 666@ 2 ¥ A6Q 69T ALAQ

ERID Y 6R6S 629 ?
(A) 321120 (B) 311220 (C) 312120 (D) 322110
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4. .Tf the salary of ‘A’ is 25% higher than the salary of ‘B’, by what percent is the salary of ‘B’ less than the
salary of ‘A’?
(A) 15% (B) 25% (C) 10% (D) 20%

A% A @ @a9ll B @61IR 25% 2@ 94, 6668 B @ 906l A @09IIQ S093! 6266 @617
(A) 15% (B) 25% (C) 10% (D) 20%

48. The average of 6 members in family is 22 years. If the age of the youngest is 7 years, what was average
age of the members of the family at the time of birth of the youngest? -
(A) 15 years (B) 16 years (C) 17 years (D) 18 years

Q09 6 FETa TAAULIA 204 22 @F | 9F AGI AR FINQ FAA 7 AU, 6069 ALRIF g ATACAR AAIOR
ARNNSR LINLAR YA 626G R ? '
(A) 15 Q9 (B) 16 @8 (C)17e9 (D) 18 @9

49. An examinee secures 30% marks and fails by 50 marks in an examination. Another examinee gets 320
marks and fails by 30 marks. What is the maximum marks of the examination?
(A) 700 (B) 800 (C) 900 (D) 1000

@66 IQIFIL 9@ AQITIER 30% QS OF 50 AYQ Il 6TR 84 1 2R K66 A1V 320 AR Y 30 YR

QIR 6TTR, 991 6969 ARV AMYR AR 6R6S ?
(A) 700 (B) 800 (C) 900 (D) 1000

50. What is the average of X, X+2, X+4, X+6 and X+87
(A) x + 20 (B) x + 4 : C©)x+5 (D) x

X, X+2, x+4, x+6 8 x+8 Q QLA 6262?
(A)x+20 B)x+4 (C)x+5 (D) x

51. The difference of 90% and 83% of a number is 175. Then find out 99% of the number?
(A) 1426 (B) 1750 (C) 2475 (D) 2500
60lITN QIR 90% B 83% CIRICA 2ABR 175 | 6669 LHITR 99% 6RER ?
(A) 1426 (B) 1750 (C) 2475 (D) 2500
52. Find out the difference between 17% of 120 and 8% of 108?
(A) 11.66 (B) 11.76 (C) 10.76 (D) 10.66

120 Q 17% B 108 & 8% FRIER UBATR 69667
(A) 11.66 (B) 11.76 (C) 10.76 (D) 10.66

53. How many hours is 20% of 40% of 4 hours and 20 minutes?
(A) 13/6 hours (B) 26/75 hours (C) 13 hours (D) None of these

4 Q9120 G Q 40% Q 20% 6R6S AKH? ‘
(A) 13/6 Q8 (B) 26/75 Qs (©) 13 Qs (D) 616135 g6%
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54.The rate of sugar having increased by 25%, Seema purchased 1kg less than before with Rs.100. What is
the present rate of sugar per kg?
(A) Rs.20 (B) Rs.20.50 (C)Rs.25 (D) Rs.30

FRQ AR 25% Q@ELRIQ A1 100 SIER q@easm "1 39l 96 67 FaRI | 9eNle 5ha 9 9F @9 696 ?
(A) 920 (B) $20.50 (C) 925 (D) 930

55. The average age of 25 boys is 15. If the average ages of first and the last 12 boys are 14.5 & 15.5

respectively, what the age of 13® boy?
(A) 10 (B) 12 )15 (D) 16

25 @8 QR FIAULIA QUQA 15. A& A 12 @41 6 68 12 QIS LIQIRIR AA YRIFEL! 14.5 8 15.5 g,

13 990 DIN6R I RS YA 6R6S ?
(A) 10 (B) 12 ©) 15 (D) 16

56. Nabaghana borrowed Rs.10, 000 from a bank at an interest rate of 10% and lent the same to 02 persons at
13% interest. How much profit he will earn after 5 years after repaying bank loan?
(A) Rs.1200 (B) Rs.1500 (C) Rs. 2100 (D) Rs.2500

ARAR 10% IR6Q UFQ 10,000 & K98 K1 13% LIREQ QRSS! 6RIFT KA QR | 5 Q9 68196Q 692Q
Q' T B ARSI AR 6R60 OF RN AR ?

(A) 1200 ¢. (B) 1500 <. (C) 2100 . (D) 2500 %'
57.What is the rate of interest if the principal amount becomes 3 times including the principal and interest in
20 years?
(A) 10% (B) 12% (©) 8% (D) 10.5%

6716d JRuR 20 @86 QI 6 €)@ A8 RURA 3 8 62ARAN | RIS TR 6RES ?
(A) 10% (B) 12% (C) 8% (D) 10.5%

58. If certain principal is doubled in 20years, how many years will it take for that principal to multiply by 4
times?
(A) 40 years (B) 50 years (C) 60 years (D) 80 years

AR 66T RIS 20 286R FYIE 9, 6969 6769 FT6R AB UK 4 61 629 ?
(A) 40 @F (B) 50 @8 (C) 60 @8 (D) 80 @8
59. In how many years the interest on principal amount of Rs. 2,500 @ 3% interest will be equal to the interest

@ 7% for 5 years on principal amount of Rs.1, 5007
(A) 5 Years (B) 6 Years (C) 7 Years (D) 8 Years

6R60 QF6R 3% AR PI6R 62,500 FRUGA Y, §'1,500 FRIAR 7% QR 6a 5 e¥a QI AT6 AR
629 ?
(A) 5 Q9 (B) 6 @9 (C) 798 (D) 8 @¥



MATO0001417 / A / Page 11 of 20
= ARITHMETIC

60. Ajay borrowed some money from Rashmi at 5% simple interest per annum and was freed of debt repaying
Rs.8, 800 after 2 years. How much interest did he pay?
(A) Rs.800 (B) Rs.825 (C) Rs.850 (D) Rs.975

200 QTR 5% AR PICA FE 97 AFI0IQ A0S @8 gRAT A6a 68,800 60N ASFB 62RI | 696@ QI
QIIQQ ARLY 6R6C T 6QRIq AGRI?
(A) €800 (B) 6825 (C) 6850 (D) €975

61. At what rate of simple interest per annum certain principal amount will be doubled in 8 years?
(A) 10% (B) 12.5% (C) 15% (D) 20%

QTR 6760 2R AARYYUER 67T RS 8 9T6R GG 689 ?
(A) 10% - (B)12.5% (€) 15% (D) 20%

62. Rakesh lent Prakash Rs.8750 at simple interest of 7%. How much interest will he get in 3 years?
(A) Rs.1870 (B) Rs.1837.50 (C) Rs.560 (D) Rs.2200

QUERE QITR7% QP YRI6A JRIGF $8,750 IR 6ORI | 6669 64 3 TR 66T Yol ARS ?
(A) §1870 (B) ©1837.50 (C) §560 (D) 62200

63. What is the amount of principal and interest of Rs.860 in 2 years @2paise per rupee per month?
(A) Rs.1227.80 (B) Rs.1722.80 (C) Rs.1272.80 (D) Rs.1722

oFl 98 1A 2 AR AREAR 860 TFIA 2 ATR ARG 6269 ?
(A) ©.1227.80 (B) ©. 1722.80 (C) 9. 1272.80 (D) @. 1722

64.1If the difference between compound interest and simple interest on certain money at 5% per
annum in 2 years is Rs.5, what is amount of the principal?
(A) Rs. 2000 (B) Rs. 1000 (C)Rs. 1500 (D) Rs. 2500

QTR 900! 5% LR G6R 2 QTR AR FRIFA AR Y&l 8 99 G 1I6R AIdRY A7 9.5
24, AMIFQ ARCIE 6R6C 629 ? ,
(A) Rs. 2000 (B) Rs. 1000 (C)Rs. 1500 (D) Rs. 2500

65. The difference between simple interest and compound interest of certain amount at the interest rate of 10%

in 3 years is Rs.93. What is that amount?
(A) Rs.6000 (B) Rs.5000 (C) Rs.4000 (D) Rs.3000

99961 10 &1 2196a 3 86a T8I MIRR A0R Qo Ie° 9FE QI FRIER QTR 93 O | 69T e
ARSI 6R6E ?

(A) Rs.6000 (B) Rs.5000 (C) Rs.4000 (D) Rs.3000
N
66. What shall be the amount including compound interest, if Rs.1500 is invested at the interest rate of 7% in
2 years?
(A) Rs.1717.35 (B) Rs.1727.35 (C)Rs.1737.35 (D) Rs.1747.35

490! 7 971 2R6Q 1500 IR 2 996a AFR I Yo 6960 6297
(A) Rs.1717.35 (B) Rs.1727.35 (C) Rs.1737.35 (D) Rs.1747.35
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In how many years Rs.6250 will earn compound interest of Rs.510 if saved in a bank at the interest rate of —
4% per annum?
(A) 2 years (B) 3 years (C) 4 years (D) 5 years
990! 4 O AAER 6250 T 6AITI QUIFERQ QM 66 Qdea QlQ @Q@g‘ QI 510 Ol 699 ?
(A) 2 years (B) 3 years (C) 4 years (D) 5 years
What will be the amount of compound interest if Rs.8000 is lent at simple interest rate of 5% for three
years?
(A) Rs.1281 (B) Rs.1271 (C) Rs.1261 (D) Rs.1251

8000 S RUGG I0RR! 5 OF P AAER FAR 6A6R 57 TR FF9F U 676F 6297
(A) Rs.1281 (B) Rs.1271 (C) Rs.1261 (D) Rs.1251

A person borrowed Rs.5000 from a bank at a compound interest of 10% to purchase a water pump. What
amount of money will he repay the bank after 3 years to be free of the debt?
(A) Rs.6655 (B) Rs.6055 (C) Rs.5555 (D) Rs.5255

6QIGN QI8 gt BEQIQ F681 SRR 10 GGEIE 0gE Qo [IAEA MUIFQ 5000 T QS QOIMEM | 3 Qdaea

6115 6966 S R 62 QUISTQ A&l ¢S 6269 |
(A) Rs.6655 (B) Rs.6055 (C) Rs.5555 (D) Rs.5255

A shopkeeper sold 2 articles and earned a profit of 20% in one and suffered a loss of 20% in the other.

What was the percentage of his profit or loss in the business?
(A) 4% loss (B) 4% gain (C) 8% loss (D) No profit or loss

@661 6QIRIR1 RS G FaRA 63ITRER 20% R AR G ARITER 20% FG AT | 6716 AWER BI'A
SORG! 6266 RN T /G 62! ?
(A) 4% loss (B) 4% gain (C) 8% loss (D) No profit or loss

As shopkeeper earns a profit of 10% after giving 10 percent discount on a book. What is cost of the book,
if its price is marked Rs.77/-?
(A)Rs.70 (B) Rs.77 (C) Rs.63 (D) Rs.60

K66 RTCRIRIRT H6S 9T QAR 10% ARIT 69II6R Tl 10% RN K93 | IF @F QAR QI 77 T 6RS|
QNN G129 626 QTR QAR 62667

(A) 70 o= (B) 77 o= (C) 63 ol (D) 60 oI
The purchase price of a bicycle is Rs.2000/-. Its marked price is 50 percent more than the purchase price

and the rebate is 20%. Find out the sale price of the bicycle?
(A) Rs.2300 (B) Rs.2400 (C) Rs.2500 (D) Rs.2600

691N AREIRA GACIRY $.2000 | ILIQ RAYE FRY ATIRY ACAVN 50% 2@ G QLIS 20% 626M, AINECKRR
IGIRY 69607
(A) 2300 6. (B) 2400 ©. (C)25006%. (D) 2600 %
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73.°A’ sold a cycle to ‘B’ @20% profit and ‘B’ sold the cycle to ‘C’ at 25% profit. If ‘C’ purchased cycle at
Rs.1500, what is the sale price of the cycle?

(A) 1200 ' (B) 1100 (C) 1000 (D) None of these

A, B @ 42 AIREQR 20 % RIVEA B B, C § 25% RIN6A F@@6m | 98 C AIREKRG 6.1500 60 @82, 6069
AREIRA SRR 696 ?
(A) 1200 (B) 1100 (C) 1000 (D) 621635 ge2

74.1f 5% of the sale price of a table is equal to 6% of its purchase price and 8% of its sale price and 9% of its
purchase price makes a total of Rs.93 what is its purchase price?
(A) Rs.600 (B) Rs.400 (C)Rs.500 (D) Rs.700

AR 69T 659RA TFINYS 5% B FATRYS 6% AQAQ ACIL IS° GI'Q FFIRYR 8% B YURNIA 9% Q A
6.93 99, 699RTR FUIIRY 6R6C 629 ? ,
(A) 6.600 (B) ©.400 (C) 6.500 (D) 6.700

75. A, B, & C started a business investing Rs.14000. If the amount of profit eamed after one year by A.B & C

is Rs.337.50, Rs.1125 & Rs.637.50 respectively, what amount was invested by A?
(A) 2250 (B) 7500 (C) 4200 (D) None of these

A, B 8 C 69115 6.14000 600 9 94022 210 Q6R | 99@ 96Q A, B 8 C QIfQQl RINQ 9R¢1€ Q2lIg6s]
$.337.50, 6.1125, ©.637.50 626m, A @ SG6QC! 21l 6960 ?
(A) 2250 (B) 7500 (C) 4200 (D) 6916135 ges

76. Mohan suffered a loss of 10% by selling his wristwatch at Rs.1440. At what price he should have sold the
watch to get a profit of 10%?
(A) Rs.1, 650 (B)Rs.1, 700 (C)Rs.1, 760 (D) Rs.1, 820

6CI2R 6I'Q TNCANITY $'1,440 6Q FFA 10% FE AR | 6969 64 TP 6R6E TFIEQ 37 FALYSR 10%
RS ARSI ?
(A) 91, 650 (B) ©1, 700 (C) @1, 760 (D) ¢'1, 820
77. A shopkeeper purchased 50 pens at Rs.50 each. He sold 40 pens at a loss of 5%. At what percentage of

profit must he sell the balance pens to get 10% profit on the whole?
(A) 15% (B) 40% (C) 50% (D) 70%

S66 ARE 6QIRIRT @R 9F 650 FARER 50 & AR FERI | 6AYFRUQ 40 T ARG 5% FTEQ TN | 6069

28R ARC GO 6 6266 JERG! RINCA TGREM GI'A 61T AUER 10% NN 6297
(A) 15% (B) 40% (C) 50% (D) 70%

< 78 Hari bought 1600 eggs @Rs.3.75 per dozen. He sold 900 eggs @2 eggs per rupee and the rest at the rate of
5 eggs per Rs.2/- . What was his percentage of profit?

(A) 40% (B) 42% (C) 45% (D) 46%

28 0er 98 $3.75 aRQI6a 1600 & 2181 FERI | 628 FRIQ 900 § 2AIQ 1 FFI6R 25 8 2QEY AQIY 2 CI6R

—~ e

55 00 G596R | 696 69 660 H0RE! AR TIRER ?
(A) 40% (B) 42% (C) 45% (D) 46%
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79. A dishonest businessman sells his goods and gains 20% profit on both the cost price and sale price using

wrong measurement. What is the total percentage of his profit?
© (A) 50% (B) 40% (C) 44% (D) None of these above

@64 AR AN @M AR LR XA Q9 QAcImY 6 99 7wl Qa6 20% 6RSIN RIR F6Q | 696R BI'Q

6ClISER SORE! 6968 RIR §I ?
(A) 50% (B) 40% (C) 44% (D) QIeRIQ 6TSTT Q68

80.If the proportion of the sides of 2 cubes is 3:4, what is proportion of their volume?
(A)3: 4 (B) 4:3 (C) 64: 27 (D) 27: 64

9a% A0A6A QIg FIREA 2GS 3: 4 626R, AFINGA AVERR AFAIS 6REE 629 ?
(A)3: 4 (B) 4:3 (C) 64: 27 (D) 27: 64

81.350 students read in a school. The ratio of the boy and the girls is 4:3. How many girls have to leave the

school to make their proportion 2:17
(A) 20 (B) 30 (C) 40 (D) 50

6015 FQUIRAER 350 @8 Gl AI0 ARE | 6QARE FRIQ G2l 8 T AQAIS 4:3 | FUIRAQ 6R6C K ]IQT
gIe SIMGIER, 69T 294G 2:1 629 ?
(A) 20 (B) 30 (C) 40 (D) 50

82.1f A: B=3:4 and B:C = 8:9, what is A:B:C?
(A)8:6:9 (B) 6:8:9 (€)9:8:6 (D) 3:32:9

QG A:B=3:48B: C=8:9gY, 6069 A: B: C 6@6%?
(A)8:6:9 (B) 6:8:9 (€)9:8:6 (D) 3:32:9

83. The proportion of copper, lead and nickel in an alloy of 100kg is 5:3:2. How much nickel would be added

to the alloy to make their proportion of the new alloy 5:3:3?
(A) 8 kg. (B) 10 kg. (C) 12 kg. (D) 15 kg.

100 62.6. @ 99 IRVER &I 99, AIA Ie° FeRQ AQAIS 5 : 3 : 2 T6T' | AB INVAEAR 66C ARSI
acan JdIasm 92l YRUe 2gaIe 5: 3 : 3 689 ?

(A) 8 6Q.G. (B) 10 62.G. (C) 12 62.4. (D) 15 62.G.
84.Rs.832 was distributed between Ram & Govind. If the proportion of the money given to them is 1/3:1/5,
how much money did Ram get?
(A) 312 (B) 520 (C) 500 (D) 332

QUET B 69ITR F1IER 832 Sl Q& QUGN | 6Q%NER AIRGR IR AQAIS 1/3 : 1/5 626, QUE1 6R6% Sl
AR?
(A) 312 (B) 520 (C) 500 (D) 332
85.350 boys read in a school. The ratio of the boys and girls is 4:3. After some girls left the school their ratio

turned to 2:1. How many girls left the school?
(A) 20 (B) 30 (C) 40 (D) 50

6QIGN SRR 350 R AR A0 ARE | 6ATIRE CRIQ G2 6 B AGAIS 4 : 3 | TUIRAR 6260 981 &2

2T INDSIQ G2 6 AR AQAIG 2 : 1 6TRI | 6669 6R6E T¢I T2 TR AAGYIS RER?
(A) 20 (B) 30 (C) 40 (D) 50
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86. The proportion of 2 numbers is 10:1 and their sum is 1188. What is the number?
(A) 18 (B) 108 (C) 81 (D) 28

QG A°®YIQ 2GS 10: 1 8 6AAITA CAGTR 1188 626R, ST 6R66 ?
(A) 18 (B) 108 (C) 81 (D) 28

87.There are 200 boys and girls and 10 teachers in a school. If the proportion of boys and girls is 7:3 what is
the ratio of boys, girls and teachers?
(A)7:3:1 B)7:3:2 (©)6:14: 1 (D) 14: 6:1

@ SQURLER 200 @8 FISRIQT G 10 @8 3@ 283 | 818 8 BIQ1 AQAIS 7: 3 626w, 8IS, 81918 JIaE
QIS 6R60 629 ?
(A)7:3:1 B)7:3:2 (C)6: 14:°1 (D) 14: 6:1

88. The ratio of two numbers are 3:5. If, 10 is added in each number, the new ratio becomes 5:7. Then find out

the smaller number?
(A) 9 (B) 12 ©) 15 (D) 25

QG A°HIR 2AGAIS 3: 51 AT G6SUR LHIER 10 6215 FAIAIN, QOF Y FAR AQAIST 5: 791 666Q

Qe AT 6960 ?
(A)9 (B) 12 (©) 15 (D) 25

89. At what ratio a shopkeeper shall add two types of rice, one @ Rs. 15 and the other @ Rs. 20 per kg to get
Rs. 16.50 per kg?
(A)3:7 B)5:7 )73 D)7:5

8RR 2QUIBER 661G 6QIRIRT FERIFIA GG 15 OFI 620 9FIQ @R IR SR FSINER, @RI 9& 16.50 O
AR AR ?
(A)3:7 (B)5:7 (©)7:3 (D) 7:5
90. The length of a rectangle is increased by 20% and the width is decreased by 20%. The area decreases by-

(A) 8% (B) 0.8% (©) 1.2% (D) 4%

GGG 2ICRETGR 684 909G! 20% QRITR! Ie° 98 J6RE! 20 KAIGRI | 606S IR 6IGTR 6268 4R
?
(A) 8% (B) 0.8% (©) 12% (D) 4%

91. The ratio between the length and breadth of a rectangular field is 5:4. If the breadth is 20m less than the
length, the perimeter of the field is:
(A) 260 m (B) 280 m (C) 360 m (D) None

6EIEN 2ILe 6RgR 6344 8 g9a 2GAIE 5:4 | UG IR g8 6TWI0IR 20 FITQ @61 62IRAN , 6969 LG

6999 A1 6262 ?
(A) 260 m (B) 280m (C)360m (D) None
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92. The material of a cone was converted in to the shape of a cylinder of equal radius. If the height of the

cylinder is 6 cm, the height of the cone was-
(A)2cm (B) 6 cm (C) 18 cm (D) 36 cm

60T 6QIR § CARIR AANS QUAUS FFY 601G IRAAEH ARGE QAR | 9T IRLAR G 6 62. 8. 99,

626Q 6917 Q AFCl 6R6C 629 ?
(A) 2 cm (B) 6 cm (C) 18 cm (D) 36 cm

93. The radius of a cylinder is the same as that of a sphere. Their volumes are equal. The height of the cylinder
is how many times its radius?

(A) 4/3 (B) 2/3 ©)1 (D) 2
6015 GRaQ QUIQIS 661G 6TINGA SIS A6EF AFNR | AT 2INGe AFIR 26T | 6969 ARYQ R
QIZIQ QIARQ 626 8! ? |

(A) 4/3 (B) 2/3 ©)1 (D) 2

94. If the height of a cone is doubled, then its volume is increased by:
(A) 100% (B) 200% (C) 300% (D) 400%

OB 6615 69I] Q@ AFFIF §R T8l FAUAIN, 6062 IR AARR 6965 QFAIRS ?
(A) 100% (B) 200% (C) 300% (D) 400%

95.If the ratio of volumes of two sphere is 1:8, the ratio of their surface area is-
(A) 12 (B) 1:4 ©) 1:8 (D) 1:16

A? QA% 6IINAA YRTRR AQAIS 1:8 §4, 6069 6’ AUAVIGIA EASTRA AQAIG 626 ?
(A) 1:2 (B) 14 (©)1:8 (D) 1:16

96. If the surface areas of two spheres are in the ratio of 4:25, the ratio of their volume is-
(A) 4:25 (B) 25:4 (€) 125:8 (D) 8:125

U3 2 § 66INRA JIGRR 2AGAIG 4:25 9, 6069 6ATIFA VRTRR AGAIS 6966 ?
(A) 4:25 (B) 25:4 (C) 125:8 (D) 8:125

97. A cube of side 6 cm is cut in to a number of cubes, each of side 2 cm. The number of cubes will be:
(A)6 (B)9 ©) 12 (D) 27

6 62. 7. Qg Y P ARG RIT 6268 GEd 2 6Q. §. QIg TR ALREA ARG FAUTRI | 6969 4T
ACE R LY 6R6E 6297
(A) 6 (B)9 (€) 12 (D) 27

98. Three cubes of iron whose edges are 6 cm, 8cm, and 10cm respectively are melted and formed into a
single cube. The edge of the new cube formed is:
(A) 12 cm (B) 14 cm (C) 16 cm (D) 18 cm

6 6241, 8 62.81. 8 10 6Q. &. QIgAdY T6aIG 6mle GTe ATANY CARIR YR GOR ANARER AASS R6R,
IR IR 6561 6266 629 ?
(A) 12 cm (B) 14 cm (C) 16 cm (D) 18 cm
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99. A metal sphere of 5 cm radius is melted to make a cone with base of the same radius. What is the height of
the cone?
(A) 10 cm (B) 15cm (C)20 cm (D) 5cm

5 624 QUIAFY FTL 6TITT IAR CTIRAY GARIR AAIRYAS FEFY IR 6QI] 68 ARSIE FRUSR | 69T 6RIR

QA QP! 6R6E ?
(A) 10 cm (B) 15cm (C)20cm (D) 5cm

100. Two taps ‘A’ and ‘B’ can fill a cistern in 28 minutes and 56 minutes respectively. A third tap ‘C’ can
empty it in 42 minutes. If all the three taps are open, the time taken to fill the cistern will be:
(A) 32 minutes (B) 33.6 minutes (C) 33.8 minutes (D) 34 minutes

9a% ISR A e B 60ITN @aq aeligen 28 AR] 6 56 Adceq 9d @RaIe8 | §o19 AIfiew 42 ARG
QI2Ig dim @AAIER | AF AN ARG IR ATLER CHIRGN, 6661 QET Ju6eqlq 6960 AT AITS ?
(A) 32 minutes (B) 33.6 minutes (C) 33.8 minutes (D) 34 minutes
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